
 

Nachbarzahlen 8 
 
 
1. Ergänze die Nachbarzahlen. 
 
 

Vorgängerzehner       

Zahl 5 702 1 742 2 620 7 420 2 435 6 774 

Nachfolgerzehner       
 
 

Vorgängerhunderter       

Zahl 7 470 2 677 4 277 2 060 2 281 2 439 

Nachfolgerhunderter       
 
 

Vorgängertausender       

Zahl 6 274 4 220 4 767 2 709 7 774 9 722 

Nachfolgertausender       
 
 
2. Rechne mit verwandten Aufgaben. 
 
 
     40 +      60 = ________  12 +      74 = ________ 

   400 +    600 = ________  120 +    740 = ________ 

4 000 + 6 000 = ________  1 200 + 7 400 = ________ 

 

 

 

     34 +      22 = ________  10 +      45 = ________ 

   340 +    220 = ________  100 +    450 = ________ 

3 400 + 2 200 = ________  1 000 + 4 500 = ________ 

 
 


